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	1. 
	What did Morris do to feed the timber wolf pups?  (18)

	a.
	Bottle fed them

	b.
	Took them to his collie dog

	c.
	Brought food to the mother wolf

	d.
	Taught them to eat from a dish



	2.
	Why did the little girl need to get to Prince Albert?   (30)

	a.
	She needed to tell him about a spy

	b.
	She had appendicitis 

	c.
	They were going to be married

	d.
	She couldn’t walk



	3.
	What caused the old beaver dam to break?   (48)

	a.
	Flooding from the rainstorm

	b.
	The hunter using some of the sticks for a fire

	c.
	A bear searching for a way down river

	d.
	Flash trying to swim to safety



	4.
	Why did they plan a reindeer race?   (58)

	a.
	To offset the boredom

	b.
	To decide who should be the lead Reindeer on the sled

	c.
	To share the needs of the people of Alaska

	d.
	None of these 



	5.
	What helped the reindeer go fast enough to win?  (63)

	a.
	A Polar bear

	b.
	A dog 

	c.
	Being trained by Eskimo men

	d.
	All of these



	6.
	The swan’s defense against the  eagle was          .   (81)

	a.
	 His powerful beak

	b.
	 Flapping his wings

	c.
	 Using his claws

	d.
	 All of these
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	7. 
	Little Baptiste did not go in the water with the message pack because          .   (91)

	a.
	He had been trained to not go in the water with a load on his back

	b.
	It was too dangerous

	c.
	The pack was too heavy

	d.
	He was sick



	8. 
	Glen was honored because he said he would not leave his Indian guide until          .  (114)

	a.
	He needed to go get help

	b.
	All the water of the river has run away

	c.
	He could care for himself

	d.
	He needed to hunt for food 



	9. 
	A farbro was a          .   (121)

	a.
	Brother

	b.
	Cousin

	c.
	father

	d.
	uncle



	10. 
	What unkind thing was done to the serum dogs?   (157)

	a.
	They were put in a freak show

	b.
	They were left to die in a far north corral 

	c.
	They were made to run races when they were hurt

	d.
	They were shot because they had been injured on the trail.
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